THE UNITED REPUBLIC OF TANZANIA

MINISTRY OF HEALTH, COMMUNITY DEVELOPMENT, GENDER ELDERLY AND CHILDREN



LIGULA REGIONAL REFERRAL HOSPITAL

LOCAL PURCHASE ORDER NO. ME/007/LRRH/2021-22/G/8 LOT 5
SUPPLY AND FIX MILD STEEL GRILL FOR EMD, ICU AND
TWO STAFF HOUSES

JANUARY 2022

To: Sales Manager,
Ally Bushiri Khaji,
Timer and Furniture,
P.O. Box 482, **Mtwara**.

Your quotation reference ME/007/LRRH/2021-22/G/8 LOT 5 dated 17/11/2021 is accepted and you are required to supply the goods as detailed on the attached Schedule of Requirements and Prices.

TERMS AND CONDITIONS OF THIS LOCAL PURCHASE ORDER:

- Contract Sum: The Contract Sum is Tanzania Shillings Twenty Three Million Nine Hundred (TZS 23,915,000/=) VAT inclusive or exclusive].
- 2. **Delivery Period**: The goods are to be delivered within Two weeks from the date of this LPO.
- Delivery point: The goods are to be delivered to Ligula Regional Referral Hospital of Po. Box 520, Mtwara.
- 4. Contact Person: Notices, enquiries and documentation should be addressed to Dr. Lobikieki Kissambu Medical Officer In charge at Ligula Regional Referral Hospital

5. Payment to Supplier:

Payment will be made within Thirty days on completion of satisfactory performance of the contract. The following documentation must be supplied for payments to be made:

- An original and two copies of an Invoice;
- · A delivery note evidencing dispatch of the goods;
- Acceptance certificate signed by a responsible person or committee for certifying satisfactory completion of the order; and
- Electronic Fiscal Device (EFD) receipt;

SCHEDULE OF MATERIALS

| ITEM | DESCRIPTION OF ITEMS | QTY | UNIT | RATE | AMOUNT |
|---------|--|-------------|--------------------------|---|---|
| | METAL WO | RKS0 | | | |
| nat bai | and fix mild steel grille comprising of Rectangur welded to framing at 148mm center cross grid that that hardware; including fixing to concrete or block | o an app | section 3 roved pat | 38 x 38mm frantern; complete | ning, 5 x 40m with rust |
| 1 | Ditto; Door size 900x3000mm (For Secretary door, payment office, dispensing, Medical gas and Power room) | 6 | No | 400,000 | 2,400,000 |
| | WINDOW GRILLE | | | | |
| | Supply and fix mild steel grille comprising of Rectangular hollow section 38 x 38mm framing, 5 x 40mm flat bar welded to framing at 148mm center cross grid to an approved pattern; complete with rust resistant hardware; including fixing to concrete or block work; | | | | |
| 2 | size 1500 x 1500mm overall height | 19 | No | 195,000 | 3,705,000 |
| 3 | size 1200 x 2000mm overall height | 4 | No | 195,000 | 780,000 |
| 4 | size 900 x 900mm overall height | 7 | No | 110,000 | 770,000 |
| 8 | Window size 900 x 900mm overall height | 6 | No | 110,000 | 660,000 |
| 9 | Window size 1200 x 900mm overall height | 1 | No | 160,000 | 160,000 |
| 10 | Window size 1200 x 1800mm overall height | 5 | No | 195,000 | 975,000 |
| lat bar | and fix mild steel grille comprising of Rectangula welded to framing at 148mm center cross grid to the hardware; including fixing to concrete or block Window size 1800 x 1800mm overall | ar hollow s | section 38 oved patte | 3 x 38mm fram ern; complete v 220,000 | ing, 5 x 40mm vith rust 7,480,000 |
| 12 | height Window size 900 x 1500mm overall height | 6 | No | 185,000 | 1,110,000 |
| 13 | Window size 900 x 900mm overall height | 6 | No | | |
| 14 | Window size 1200 x 900mm overall height | 1 | No No | 110,000 | 160,000 |
| 15 | Window size 1200 x 1800mm overall height | 5 | No | 195,000 | 975,000 |

| 16 | 1500 x 1500mm high | 18 | nr | 195,00 | 3,510,000 |
|----|--------------------|----|----|--------|--------------|
| 17 | 600 x 600 mm high | 6 | nr | 95,000 | 570,000 |
| | TOTAL AMOUNT | | | | 23,915,000/= |
| | Add VAT 18% | | | | |
| | GRAND TOTAL | | | | 23,915,000/= |

| For Purchaser: LIGULA REGIONAL REFFRRAL HOSPITAL P. O. BOX 520 P. O. BOX 520 WARA |
|---|
| Name LOBICERU KISSAMBU |
| Designation MEDICAL OFFICER INCHARGE |
| Date: 14/01/2022 |

| For Supplier: |
|----------------------------|
| Signature: BOX 482 |
| Name: ALLY BUSHIR LHASI |
| Designation: FUNDING GRILL |
| Date: 14/01/2022 |